| > restart

> f:=2- Heaviside(t — 1) + (¢ — 1) -Heaviside(t — 1) —2- (¢t —2) -Heaviside(t —2) + (¢ —3)
‘Heaviside(# — 3) — 2-Heaviside(t — 3); plot(f, t=-5..5,y=-4.4)

f:=2 Heaviside(t — 1) + (¢ — 1) Heaviside( — 1) —2 (¢ — 2) Heaviside(t —2) + (¢

— 3) Heaviside(t —3) — 2 Heaviside(t — 3)
4

N

> g :=-2-Heaviside(¢ +3) — (¢ + 3) -Heaviside(# +3) +2-(¢ +2)-Heaviside(t +2) — (¢ + 1)
-Heaviside(z + 1) +2- Heaviside(¢ + 1); plot(g, t=-5..5,y=-4.4)
g := -2 Heaviside(z +3) — (¢ + 3) Heaviside(¢ +3) +2 (¢ +2) Heaviside(z +2) — (¢

+ 1) Heaviside(t + 1) 4+ 2 Heaviside(z 4+ 1)
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(> hi=g+fplot(h,t=-5.5,y=-4.4)

h = -2 Heaviside(t 4+ 3) — (¢ + 3) Heaviside(¢ +3) +2 (¢ 4+ 2) Heaviside(¢t +2) — (¢

+ 1) Heaviside(z + 1) + 2 Heaviside(z + 1) + 2 Heaviside( — 1) + (¢ — 1) Heaviside(?
—1) —2 (t—2) Heaviside(t —2) 4+ (t —3) Heaviside(t —3) — 2 Heaviside(t — 3)
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=> L:=4
i L=4 a1
> al[0] = %-int(h,t;L..L)
a,:=0 2)
I N n-Pi-t _
> aln] = I3 mt(h cos(—L ),t— L..L)
a,:=0 A3)

> b[n] = %-int(h-sin( n.LPI't ),tZ—L..L) :

n-Pi-¢

> H[1000] := Sum(b[n]-sin(
(> plot(H[1000], 1=-5..5, y =4 .4)

),nZI..IOOO) :
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(> plot([ £, H[1000]], 1=0.4.5, y=-1.4)

-



> plot([ £, H[1000]], 1=1.9.2.1)




2.98

2.961

2.94

2.924
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> j = 2-Heaviside(¢ +3) + (¢ + 3) -Heaviside(¢ +3) —2- (¢ +2)-Heaviside(t +2) + (¢ + 1)
‘Heaviside(¢ + 1) —2-Heaviside(t + 1); plot(j, t=-5..5,y=-4..4)
j =2 Heaviside(t +3) + (¢t + 3) Heaviside(# +3) —2 (¢ + 2) Heaviside(t +2) + (¢
+ 1) Heaviside(z + 1) — 2 Heaviside(z + 1)




(> ki=j+f:plot(k, t=-5.5,y=-4.4)
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> aa[0] = A int(k, t=L.L): cc = 24101
L 2
aa, ‘= Bl
0- 2
ce :=% )
> aal[n] = %.int(k-cos( n'zl't ), l=—L..L) :
> K[1000] := cc—i—sum(aa[n]-cos( ”'E” ),n=1..1000) :

[> plot(K[1000], t=-5..5,y =-1..4)




> plot([ £ K[1000]], 1=0.4.5, y=—1..4)

i



(> plot([ £, H[1000], K[1000]], 1=1.99..2.01)
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t
(> LL =2
i LL:=2 &)
> aaal0] == Ll—L-int(ﬁt=O..4);ccc = %[0]
aaao =
ccc = i (6)
) N n-Pi-t _
=> aaaln] == 173 znt(fcos( ), = )
_ 1 - P1 -t
> pobnTi= 4 mt(fsm( ) )
> F[1000] := ccc—i—sum(aaa[ cos( n-Pi-t ) + bbb[n ( ”le" ),n=1..1ooo) :

(> plot(F[1000],t=0..4, y=-1.4)




;> restart
> f:=2-exp(2-1)

=> plot(f,t=-1..1)

@)
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> a[n] = subs(sin(n-Pi)

> b[n] = subs(sin(n-Pi)

b._

n-

0 0.5 1
t
L:=1 ®
cevalf (%)
7.253720816 9
- L 2,12
c: ) e "+ ) €
3.626860408 (10)
=0, cos(n-Pi) = (- ‘n, mt(fcos n-Pi-t), t=-1..1));evalf (%, 3)
a_zz(zez(—l) 2(-1)")
! TE n +4
_ n
29.0 (2 1.) a1
9.86 n~ + 4.

=0, cos(n-Pi)=(-1)--n,int( f-sin(n-Pi-t),t=-1.1));evalf (%, 3
2

2(-(-1)'mn+e?(-1)"nn)

2
T n2+4



456 (-1.)"n
9.86 n> + 4.

:> F[1000] :==c 4+ sum(a[n]-cos(n-Pi-t) +b[n]-sin(n-Pi-t),n=1..1000) :
> plot([ £, F[1000]], ¢=-1..1)
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(> plot([ £ F[1000]], t=-0.01..0.01)




-0.010 -0.005 0 0.005 0.010

:> F[5000] :== ¢ +sum(a[n]-cos(n-Pi-t) +b[n]-sin(n-Pi-t),n=1..5000) :
> plot([ f, F[1000], F[5000]], t=-0.01..0.01)
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